Chemistry 115 - 3903, 3905					Name				





Quiz 8A  (15 points)						April 17, 1995





All work must be shown to receive credit.


R = 0.0821 L atm/mol K = 62.4 L torr/mol K





1. (3 points) Give the key term that matches each of the following definitions





  The temperature at which the vapor pressure of a liquid is equal to the atmospheric pressure.





  The law that states the at constant temperature, the  pressure and volume of a gas are inversely proportional.





  The pressure exerted by the gas molecules in air; at sea level this pressure supports a 760-mm column of mercury.








2. (4 points) What is the final Celsius temperature if 3.87 L of nitric oxide gas at 95oC is cooled until the volume reaches 2.00 L?  Assume the pressure remains constant.



































3. (3 points) Oxygen is collected over water at a temperature of 25oC and 762 torr.  What is the partial pressure of the oxygen if the vapor pressure of water is 24 torr at 25oC?





























4. (5 points) What volume would 39.5 g of nitrogen gas, N2, occupy at 253K and 1.4 atm?�
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Quiz 8B  (15 points)						April 17, 1995





All work must be shown to receive credit.


R = 0.0821 L atm/mol K = 62.4 L torr/mol K





1. (3 points) Give the key term that matches each of the following definitions





  The temperature at which the vapor pressure of a liquid is equal to the atmospheric pressure.





  The law that states the at constant pressure, the volume and Kelvin temperature of a gas are directly proportional.





  The pressure exerted by the gas molecules in air; at sea level this pressure supports a 760-mm column of mercury.








2. (4 points) What is the final Celsius temperature if 4.15 L of nitric oxide gas at 85oC is cooled until the volume reaches 3.00 L?  Assume the pressure remains constant.



































3. (3 points) Oxygen is collected over water at a temperature of 25oC and 635torr.  What is the partial pressure of the oxygen if the vapor pressure of water is 24 torr at 25oC?





























4. (5 points) What volume would 48.6 g of nitrogen gas, N2, occupy at 325K and 1.4 atm?





